VM ED
HE A RIS i 1 HANSAVFLEX

|_{::
#01 KSR B AT s
FHER 1 ER
g02 KHSBG B AT Ly | "
BHER 2 200 33 a
GHARA  HFEARBREE V o s Y
R AE DIN 2353 - L1 -

1ISO 8434-1
H&BE | SHRRSNYBFNEE
[ 1 E

RERP BERE

7R
BRRE, FA, EXRFEHNATN TEREN LA BEESATREEENRRER.
&

SR

VM NW 04 HL ED L PN 315 6 M10x1 14,0 8 31,0 8,5 14 14
VMNWO4 HL12ED L PN 315 6 M12x1.5 17,0 12 36,5 8,5 17 14
VM NW 06 HL ED L PN 315 8 M12x1.5 17,0 12 37,0 10,0 17 17
VMNWO6 HL16 ED L PN 315 8 M16x 1.5 21,7 12 39,5 10,0 22 17
VMNWO6 HL18ED L PN 315 8 M18x 1.5 24,0 12 39,5 10,0 24 17
VM NW 08 HL ED L PN 315 10 M14x15 19,0 12 38,0 11,0 19 19
VMNWO8SHL12ED L PN 315 10 M12x1.5 17,0 12 40,5 11,0 17 19
VMNWOS8HL16ED L PN 315 10 M16x 1.5 21,7 12 38,0 12,5 22 19
VMNWOSHL18ED L PN 315 10 M18x 1.5 23,7 12 42,0 12,5 24 19
VMNWO8S8HL22ED L PN 315 10 M22x 1.5 27,0 14 44,0 12,5 27 19
VMNW10HL14ED L PN 315 12 M14x1.5 19,0 12 40,0 11,0 19 22
VM NW 10 HL ED L PN 315 12 M16x 1.5 21,7 12 39,0 12,5 22 22
VMNW10HL18ED L PN 315 12 M18x 1.5 23,7 12 42,0 17,0 24 22
VMNW10HL22ED L PN 315 12 M22x15 27,0 14 46,0 14,0 27 22
VMNW13HL16 ED L PN 315 15 M16x 1.5 22,0 12 44,0 13,0 24 27
VM NW 13 HL ED L PN 315 15 M18x 1.5 23,7 12 41,0 13,5 24 27
VMNW13HL22ED L PN 315 15 M22x1.5 27,0 14 47,0 14,5 27 27
VMNW16 HL18ED L PN 315 18 M18x 1.5 24,0 12 45,0 14,0 27 32
VM NW 16 HL ED L PN 315 18 M22x1.5 27,0 14 45,0 14,5 27 32
VMNW20HL22ED L PN 160 22 M22x15 32,0 14 47,0 16,5 32 36
VM NW 20 HL ED L PN 160 22 M26x 1.5 31,7 16 49,0 16,5 32 36
VM NW 25 HL ED L PN 160 28 M 33 x 2 39,7 18 52,0 17,5 41 41
VM NW 32 HL ED L PN 160 35 M42x 2 49,7 20 59,0 17,5 50 50
VM NW 40 HL ED L PN 160 42 M 48 x 2 55,0 22 64,0 19,0 55 60
VM NW 03 HS ED S PN 630 6 M12x 15 17,0 12 40,0 13,0 17 17
VM NW 04 HS ED S PN 630 8 M14x15 19,0 12 42,0 15,0 19 19
VM NW 06 HS ED S PN 630 10 M16x 1.5 21,7 12 43,0 15,0 22 22
VM NW 08 HS ED S PN 630 12 M18x 1.5 23,7 12 45,0 17,0 24 24
VMNWO8HS22ED S PN 630 12 M22x1.5 27,0 14 48,0 17,5 27 24
VM NW 10 HS ED S PN 630 14 M20x 1.5 25,7 14 53,0 19,0 27 27
VMNW13HS18ED S PN 630 16 M18x 1.5 24,0 12 48,5 18,0 27 30
VM NW 13 HS ED S PN 400 16 M22x1.5 27,0 14 51,0 18,5 27 30
VM NW 16 HS ED S PN 400 20 M 27 x 2 32,0 16 53,0 20,5 32 36
VM NW 20 HS ED S PN 400 25 M 33 x2 39,7 18 65,0 23,0 41 46
VM NW 25 HS ED S PN 400 30 M 42 x 2 49,7 20 70,0 23,5 50 50
VM NW 32 HS ED S PN 315 38 M 48 x 2 55,0 22 79,0 26,0 55 60
ZHMRILL=FER =R S=E - PN=FEESN PB=JFAIkEN - dd2=EHER

FREE
VM ED VA FEARIBIERE, THN
XVM ED BEA IR ERE, I

—

RELZI T FAFH BB ETEHBRR EERY TTRE X TR BB 15 B BAEAR L AT RIDHE I F Ao
23.08.2025 HANSA-FLEX AG www.hansa-flex.com 1



VM ED
HE A RIS i 1 HANSAVFLEX

&4
WD A TFEDRieERNKES

RELZI T FAFH BB ETEHBRR EERY TTRE X TR BB 15 B BAEAR L AT RIDHE I F Ao

23.08.2025 HANSA-FLEX AG www.hansa-flex.com



